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Bt 2 1 4,255,096 | &M (FLIR) B+ 180 m3
2. 5mPL 4. OmARTi ;
EuNE R 410 m3
2. 5mAT ;
T wb AT 1 X
0 CaBl- EHIRY £5Te) ;
FEHA O-27) 1 =X
+Hw 550, 000m3 AT ;
%+ (1CT) = 1 12,539, 058 | B&{A (FLt2) % 1= (ICT) 1, 300 m3
AR 1 (ICT) 3, 100 m3
T wb AT 1 X
0 Cadl- EHIRY £5Te) ;
FEHA O-27) 1 =X
+Hw 550, 000m3 AT ;
BT T (ICT) = 1 2,263,014 |IEmEFEF (B)135) (ICT) 810 m2
VY = W R OWSE = CREE L
BRI (B 1356) (ICT) 2, 850 m2
LB O L
P v T = 1 4,706, 184 | bR EH 1 2V
0 Cabl- EHIRY £5Te) ;
¥ LWLy 1 X
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TA7 7 Ml T X 1 11,004, 230 | T/ & (HE - BIF ) 2,770 m2
BAI7yv47/ RC-40 {1 EVJE 150mm ;

R (HEGE - BRI ) 1,790 m2
AR A RM-25 YV E 150mm ;

g (I - BRIF ) 1,790 m2
AR EET 22y (20) &H%EE 50mm 3. OmiH ;

g (I - BIF ) 1,790 m2
FAEBRIEET A2/ (20) & 50mm 3. Omi& ;
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T i S O I BRI
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TR AHERT B M t=10 ;
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/) =47 wy ) .7 ny)3E) 2 1 17,776, 686 | BT HptEay 7] -} 116 m
(A)
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B TR (FRRE) 207 -b 1 (£
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H Hx 3 m2
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H#ET R L 2 1 1,563,491 |3Eavs)-} 590 m2
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R T = 1 88, 557
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T = 1 34, 129, 992
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T =5l = 1 45, 531, 992
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